

Page 1 of 1

#### **Florida Department of Transportation**



Letting:

03210610

**Vendor Ranking** 

Call Order: 003 E3U90-R0 Contract:

June 10, 2021 02:00 PM Counties: JACKSON, District: District 3 Fed Aid No: N/A

WASHINGTON **Project(s):** 42212227204 (\*) **Contract Time:** 06/30/22 COMPLETION DATE

Contract Desc: MARIANNA MAINTENANCE - TREE TRIMMING AND REMOVAL

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COLLINS LAND SERVICES, INC.	Responsive	Winning bid	\$174,013.75	100.00%
2	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$180,000.00	103.44%
3	AMG OPERATIONS, LLC.	Responsive	Non-Winning Bid	\$244,875.00	140.72%
4	WD GARDNER LLC	Responsive	Non-Winning Bid	\$266,375.00	153.08%
5	ALROD LOGISTICS, INC.	Responsive	Non-Winning Bid	\$458,375.00	263.41%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 6

**Letting:** 03210610 June 10, 2021 **Call Order:** 003 **Contract:** E3U90-R0

District: District 3 Counties: JACKSON, Fed Aid No: N/A

Contract Time: 06/30/22 COMPLETION DATE WASHINGTON Project(s): 42212227204 (\*)

Contract Descr: MARIANNA MAINTENANCE - TREE TRIMMING AND REMOVAL

The work under this Work Document-driven contract consists of removal of various species of trees and stump grinding within the right-of-way of state-maintained roadways in Jackson & Washington Counties. Tree and/or brush trimming may be necessary at some locations where trees are designated for removal; tree and/or brush trimming necessary only for accessing trees specified by the Department for removal is incidental to the contract pay items for tree removal and no separate compensation for these activities will be provided. Trimming of trees for other reasons may be occasionally required, and any associated compensation will be in accordance with the contract pruning and trimming pay items. Work also consists of the removal and disposal of waste and debris generated in the performance of this contract. Locations of trees to be removed and/or trimmed will be determined by the Department and provided to the contractor by the issuance of a Work Document on an as-needed basis. Maintenance of Traffic and Mobilization will be incidental to the pay items provided.

This contract will have a budgetary ceiling of \$200,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alterna	ite Quantity Units	(1) COLLINS LAI	•	(2) FLORIDA RI CORPOR		(3) AMG OPE	RATIONS, LLC.
() indicates item is bid as Lump Sun	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TREE TRIMMI	NG AND REMOVA	L (MH				
0005 E580332 21 TREE REMOVAL (4" TO 12")	175.000 EA	87.33000	15,282.75	98.00000	17,150.00	150.00000	26,250.00
0010 E580332 22 TREE REMOVAL (13" TO 24")	375.000 EA	187.33000	70,248.75	205.00000	76,875.00	100.00000	37,500.00
0015 E580332 23 TREE REMOVAL (25" TO 36")	325.000 EA	187.33000	60,882.25	198.00000	64,350.00	285.00000	92,625.00



Page 2 of 6

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	: 032106	10 Jur	ne 10, 2021	Cal	l Order: 003		Contract:	E3U90-R0	
	No / Item ID /	Alternate	Quantity Units	(1) COLLINS LAI		(2) FLORIDA R CORPOR		(3) AMG OPER	RATIONS, LLC.
() indi	icates item is bid as Lu	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	<b>(</b> TI	REE TRIMMI	NG AND REMOVA	L (MH				
	E580332 24 EMOVAL (37" TO 48	3")	125.000 EA	150.00000	18,750.00	98.00000	12,250.00	100.00000	12,500.00
	E580332 25 EMOVAL (> 48")		10.000 EA	150.00000	1,500.00	100.00000	1,000.00	100.00000	1,000.00
	E580334 1 GRINDING (4" TO 2	4")	125.000 EA	20.00000	2,500.00	22.00000	2,750.00	100.00000	12,500.00
	E580334 2 GRINDING (25" TO	48")	200.000 EA	20.00000	4,000.00	22.00000	4,400.00	285.00000	57,000.00
	E580334 3 GRINDING (> 48")		5.000 EA	20.00000	100.00	25.00000	125.00	100.00000	500.00
	E580336 1 G AND TRIMMING (	(4" TO 24")	20.000 EA	15.00000	300.00	25.00000	500.00	100.00000	2,000.00
	E580336 2 G AND TRIMMING (	(> 24")	30.000 EA	15.00000	450.00	20.00000	600.00	100.00000	3,000.00
000	1 TREE TRIMMING REMOVAL		ion Totals:		\$174,013.75		\$180,000.00		\$244,875.00



07/01/2021

## **Tabulation of Bids**

Page 3 of 6

Letting:	03210610	June 10, 2021	C	all Order: 003		Contract:	E3U90-R0	
Line No / Item		Quantity Units		AND SERVICES, NC.		RIGHT OF WAY DRATION	(3) AMG OP	ERATIONS, LLC.
() indicates item	( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:			\$174,013.75		\$180,000.00			244,875.00



Page 4 of 6

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	<b>g</b> : 03	3210610	June 10, 2021	Cal	Il Order: 003		Contract:	E3U90-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) WD GAR	DNER LLC	(5) ALROD LO	GISTICS, INC.		
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TREE TRIMMII	NG AND REMOVA	AL (MH				
0005 TREE R	E580332 21 REMOVAL (4" 1	ΓO 12")	175.000 EA	160.00000	28,000.00	100.00000	17,500.00		
0010 TREE R	E580332 22 REMOVAL (13"	TO 24")	375.000 EA	280.00000	105,000.00	275.00000	103,125.00		
0015 TREE R	E580332 23 REMOVAL (25"	TO 36")	325.000 EA	300.00000	97,500.00	500.00000	162,500.00		
0020 TREE R	E580332 24 REMOVAL (37"	TO 48")	125.000 EA	1.00000	125.00	750.00000	93,750.00		
0025 TREE R	E580332 25 REMOVAL (> 4	8")	10.000 EA	500.00000	5,000.00	1,000.00000	10,000.00		
0030 STUMP	E580334 1 GRINDING (4	" TO 24")	125.000 EA	50.00000	6,250.00	100.00000	12,500.00		
0035 STUMP	E580334 2 GRINDING (2	5" TO 48")	200.000 EA	75.00000	15,000.00	250.00000	50,000.00		
0040 STUMP	E580334 3 GRINDING (>	48")	5.000 EA	100.00000	500.00	500.00000	2,500.00		
0045 PRUNIN	E580336 1 NG AND TRIMI	MING (4" TO 2	20.000 4") EA	150.00000	3,000.00	100.00000	2,000.00		



07/01/2021

## **Tabulation of Bids**

Page 5 of 6

Letting:	03210610	June 10, 2021	Са	II Order: 003		Contract:	E3U90-R0	
	lo / Item ID Alter	nate Quantity Units	(4) WD GAF	RDNER LLC	(5) ALROD LO	GISTICS, INC.		
() indica	ates item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001							
	E580336 2 G AND TRIMMING (> 24	30.000 ") EA	200.00000	6,000.00	150.00000	4,500.00		
0001	I TREE TRIMMING ANI REMOVAL (MH			\$266,375.00		\$458,375.00		
	Contrac	Grand Totals:		\$266,375.00		\$458,375.00		



07/01/2021

#### **Tabulation of Bids**

Page 6 of 6

**Letting:** 03210610 June 10, 2021 **Call Order:** 003 **Contract:** E3U90-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXPENDED \$200,000.00